Ace TurboDryer

(Models: F259)

Find# Part Description Specifications/Model New Part# Old Part # Qty
25 |Strain Relief Snap .400 Dia Blk 113263 02-00005 ea.| 1
24 |Strain Relief Snap .360 Dia Blk 113465 02-00218 ea.| 1
30 [Motor Assy 115v, 1/4Hp 1650 RPM, 2 Spd 109328 02-00284 |ea.| 1
28 |Washer 1/4" Rivet .26 ID x .50 OD x .06 Zp 114783 03-00001 ea.| 2
33 |Foot Round 3/16 ID x 1.125 OD x .875 Rubber Blk 105201 03-00003 |ea.| 4
15 |Nut #8-32 Nyloc Thin Zp 109615 03-00015 |ea.| 4
27 [Nut 1/4-20 Nyloc Thin Zp 118404 03-00029 |ea.| 2
17 |Screw #8 x 3/4 AB Php Zp 114454 03-00095 |ea.| 1
12 [Foot Round 3/16 ID x 1.25 OD x 5/8 Rubber Blk 106508 03-00131 ea.| 4
6 |Foot Round Push Mount .83 OD x .24 Rubber Blk 117008 03-00202 |ea.| 8
13 [Rivet 3/16 x 5/8 Tri Fold Al/Al 112015 03-00204 |ea.| 8
4  [Screw 1/4 x 20 x 1/2 Ser Hwh Nyloc Zp 114457 03-00209 |ea.| 12

1 Housing Polyethylene Fisher Blue 106075 04-00063S  |ea.| 1
5 |Grill Inlet Pc GI Blk 106929 04-00064-01 [ea.| 1
19 |[Grill Outlet Pc Gl Blk 105659 04-00065-01 [ea.| 1
29  |Support Support - Motor 115668 04-01487 ea.| 2
18 [Motor Cover Polypropylene Blk 103790 04-00067 ea.| 1
16 |Retaining Clip Motor Cover Polypropylene Blk 103982 04-00068 |ea.| 1
26 |Fan Blade 16.5 Dia 3 Blade 25 Degree PPG Ace 116458 04-01414  |ea.| 1
32 |Label Warning Turbo Indoor/Outdoor 122306 07-00109 ea.| 1
21 |Label Product, Ace (F259, -230V, -230V UK) 107571 07-00410 |ea.| 1
9  |Power Cord Assy 115v, 16/3 SITW 5-15P 25' 111256 09-00046 |ea.| 1

A0° TR
45 TP
T

Ace

SET SCRE

30 FRON END [ MITER SHAFT
10 ALLMINM HUB

(=

Ace TurboDryer (F259)

Page 1 of 1




	F259

